PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS
ITEM NO. / ARTICLE NO. / ARTICULO NO : S496-450

DESCRIPTION / DESCRIPCION : NIGHTSTAND W/ USB PORT / TABLE DE CHEVET / MESA DE NOCHE

L@

®

x8 JCBC Bolt M6 x 40MM K
x8 Boulon JCBC M6 x 40MM
x8 JCBC Perno M6 x 40MM

N
©

x1 Allen Key 4 x 65MM 3k
x1 Clé hexagonale 4 x 65MM
x1 Llave Allen 4 x 65MM

=)

x8 Spring Washer M6 E
x8 Rondelle a ressort M6
x8 Arandela auto-bloqueante M6

x4 Leg sk
x4 Patte

x4 Pata

©

x8 Flat Washer M6 K
x8 Rondelle Plate M6
x8 Arandela Plana M6

®

x1 USB port 3K
x1 Prises USB
x1 Conectores USB

*Replaceable Part

Page 1 of 3/ Page 1 sur 3/ Pagina 1 de 3

Residential Use Only

Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia
For assembly instruction video, please go to: www.myfurnitureinstructions.com



ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
ITEM NO. / ARTICLE NO. / ARTICULO NO : S496-450

DESCRIPTION / DESCRIPCION : NIGHTSTAND W/ USB PORT / TABLE DE CHEVET / MESA DE NOCHE

STEP 1

Fasten The Leg As Shown.
ETAPE 1

Attachez la jambe Comme Indiqué.
PASO1

Sujete la Pierna Como Se Muestra .

HARDWARE & LEGS (PACKED INSIDE DRAWER)
QUINCAILLERIE ET PIEDS ( EMBALLES A L'INTERIEUR DU TIROIR )
HERRAJES Y PATAS ( EMPAQUETADO DENTRO DEL CAJON

USB Adapter Plug

3

inside hardware
II plastic

Inside
Drawer

Pull Out the
drawer

(/ﬁ oot 1
' u USB Adapter
. . Plug
) *Replaceable Part
Page 2 of 3 / Page 2 sur 3 / Pagina 2 de 3 Residential Use Only Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

For assembly instruction video, please go to: www.myfurnitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE
ITEM NO. / ARTICLE NO. / ARTICULO NO : S496-450

DESCRIPTION / DESCRIPCION : NIGHTSTAND W/ USB PORT / TABLE DE CHEVET / MESA DE NOCHE

x2 RS496-410-KNOB 3k x1 RS496-410-PULL sk x2 RS496-410-DG sk
Knob with Screw Pull with Screw Drawer Glide
Poignée + vis Tirer + vis Glissiére
Tirador + Tornillo Tire + Tornillo Carril de deslizamiento
Qf (// :
©
x1 RS496-450-USB 3k x4 RC-BR-NAIL x1 RS496-410-HWKIT sk
/ USB port Brown Plastic Nail Hardware Kit
=Y Prises USB Clou en plastique Liste des piéces de quincaillerie
% Conectores USB Clavo de plastico Lista del kit de materiales

o o

/LS

o L

x4 RS496-410-LEG 3k

Legs

Jambes

Piernas *Replaceable Part
Page 3 of 3 / Page 3 sur 3 / Pagina 3 de 3 Residential Use Only Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

For assembly instruction video, please go to: www.myfurnitureinstructions.com



	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


